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I 5 T Fifrehy J :
i Wmm%wg?m; o

- Mlemationat 4.
¥ u‘f\_fﬂigiﬁnknn f ational trade

: i1 uferarfaa feRa ?
Frepferfiad 7 4 o awi arsrifares debeTedT &1 ﬁ"??z?; - ([Tjwﬁjw
' i jonali
A) c"]_i—li!ﬁﬂ‘TH (B) #q : ‘ f political ration g
1:\ ho i.-“mng the Ih”ﬂ\\-‘illg |1Tlli)l‘.lkllld1-:d the FSﬂ[_‘)lill'lgi'l Theg;};.;k[; [.D) Kautlly
(A) Tulsidas (B) Manu (C)

I YRV o IO WA Y o ST & 2 treehl
(A) fouH HEe (B) “fererm | (C) fam

What is the Uttar Pradesh Upper House known 35% [ Mandali
(A)  Vidhan Mahal (B) Vidhan Sabha /(C) Vidhan

sregT AT AT 8 ?
freforiiad # & wt.ar s agten sae (0 e 1 6

(A) T STITfOaes iy g et i b ﬁ@%%ﬁm,ﬁm@imﬁm;
(B) aﬁﬁﬁ&&ﬁm%ﬁ@wmwﬁ%c\ Ly
T T sheett &, = 3 ofte FoReft 3 2k it 5 TR ST AT T |
(C) % Sgifers wier & it wapmar it et 36 fie TR qhﬁaﬂnﬁﬁm A
(D) € = wiskan & forass gry =it =y mﬁﬁa%ﬂ?ﬁt e e
Which of the following statement best describes the CGPCET"T(_) l::ls
(A) It 1s the effect of gravitational waves on subatomic partic et one particle instan
(B) It is a phenomenon where particles remain conpccted suc : t i o it )
influences the state of another, regardless of the distance betwee 4

(C) It is the theoretical framework explaining ll@bchaviour of particles at speeds approaching the speed
of light.

(D) Itis the process by which pariicles are heat@o extremely high temperatures.
ST A e A (VAT) v e e foe

In which year was VAT introduced at the State Ie@ in India ?

(D) Forerrr TR

(D) Vidhan Parishad

(A)e 2006 (B) 2001 23 (C) 2005 {B) 2000
32. TR 3 & i s e e 6t st S st 72 9
(A) 3| &5 (B) » st
() e | @) e
.‘ﬁ hu:.h_of the following languages is not included in the Eighth Schedule of the Indian Constitution ?
rg {_ﬁr ?rdqi (B) English
> ) ?]‘I’ll n (D) Sanskrit
33, Wﬁzﬁmwwﬁamﬁmﬁ#&iﬁm% ?
(A) fae s g ratert
() ez &t sy Qg T i ST
Article 340 of the Indian Constitution deals with O i e
(A) Finance Commission \&Q
(C)  Backward Classes Co

Ml “..(B) Election Commissi
m mission
g DfD) Union Public Service Commission

(C) ATy sy 3 KLY A é
fv[\,.)‘ T 4 7y qﬁg&%* @% 6
m\h;ﬂ is 111-(: ‘Red Corrid WW

1gh sepym or" in India ?
Curyt 7 : .
An areg affecly oae In the Capital

. b ; :
‘orridor fo; 4 ¥ Nﬁ?ﬁﬂhle-Mao]st ilasurgenr:y

T B e e L T e e e e

5

39
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42,



Which country

{A) Ministry of Culture

(B) Ministry of Defence

(C) Ministry of Home Affairs

(D) Ministry of Youth Affairs and Sports

4. T AT 3edted I & STef SUHITERA] fhi U HI H[HelTs 231 L SHel a1 GTH-T 41 92dT 2 |
E;gm grgseeifaT

W involves online harassment where the EFF 1s subjected to a plethora of online messages and

(A) TEI¥m (B) 9e=m= &t =t

emails.
(A) Phishing (B) Identity theft

(A) %er gnt
(C) T TS

(A) Greta Thunberg
(C) Malala Yousafzai
6.

(Cy

(D) Ay 0"5

™ TSI T AT ]
Bate o -

(B) PR te EnVironmental sustainability )

N0 g} e
logica] advancements

(D) M
i Casurg
¥ “"E- P_n _U_“’ic performance

Wza4 -

C) Afghanistan
50,

gC) Cyberstalking
5. wifireafts o <o ot 2 3 warEt o for 2021 # Rl e it qreern & s R o 0
@IB) sl 3tEHg

(D) o FTFEET 0T 37T fafirht e

Who was awarded the Nobel Peace Prize in 2021 for the efforis (o protect freedom of expression ?
(B) Abiy Ahmed

O{D] Maria Ressa and Dmitry Muratoy

T o e (0 213, FoEAEEe: ()

‘(:1 T e (deRofaan) 1 e B
| % i o S e o) ere o e s

(Y g ]
() Track 1y, *°rall well-being and quality of life of individual

wﬁgﬁﬂmﬁm%?(m‘w ©) T (D) e
e ital of Nagaland ? ati (D) Kohima
4 : ':;:1‘;[‘ (B) Itanagar (C) Guwahati
iﬁjlﬁﬁopzﬁmmﬁm%ﬂmﬁﬁ? (D) 4. (UK)
o (B) W #iie §
[M'W hosted the COP26 Climate Confere ein 20217

(D) UK

(A) Canada (B) I 3 .
s T TS ST ot AT 0 8 o 4 O e 7
(A) I HATCT o
(B) o181 HAEH Dﬂ
(C) TEHATEE -
(D) T FEH 3N G T @

The quarterly newspaper “Cyber Pravah” is an initiative launched by which Ministry ?

(D) sieed

(D) Botnets

My gt
204] e
(A) Eygy, ' he Human Development Index (HDI) is to -

S

1
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TegEEE A mawER

(A) g

(C) e3ite vrar (Reebaron B) et ety

The yellowness of the Taj Mahal is an effect of ( }(D} e

(A) Pollution B = T

(C) Ozone depletion *-;EF’(B) Allergens
O_jlfD) Acid rain

8‘ i % i
¥ Tl g foram Hewrr el flerm & 9 o8
= <R (B) 37t a0
- , & ') derd
) re is the Indian Institute of Petroleum Iocatedm (D) faeeft
(A) Dehradun (B) Amethi ~0
9 ﬁﬁﬁ'{ G_ (E} Chf:rmai
o GHTI, nﬁwwﬁﬁmaﬁwﬁwﬁ%fiﬂ% y ), o
w12 & uftaTiva R s S NI SN T o o a0 3 o A st o
(A) AraTe stidem ¥
(C) Uiy + afempr stidtem S b
What term describes the gl ¢ (D) Hiz afarer
W global movement for gender equality, women’
Ol discrimination and violence against women ? y Y, women s empowerment and the elimination
(A) Feminist Movement e i'j :
(C) LGBTQ + Rights Movement -;_;:f_ B) Black Lives Matter Movement
i | J{D} MeToo Movement
. SEE I SeE TeR ¥ dws a9 o2
(A) sTeuafa g : Bl
(C) =m&* @(B} s i
. YD) T ST
. o 1s the au!hlor of the famous Indian novel ‘Godan’ ?
(A) Arundhati Roy (B) Munshi Premchand
(C) RK. Narayan (D) Rabindranath Tagore
(D) 20167 fmshwm % dm wra sk AT a? g
(A) i e ®) s GO gk
Who was the Fi i ; ; % emonetization ? : _
(A) Amit Shall? b M]T;t;r iiiﬂ:irc::;ng 20%{?‘1 NarendraModi (D) Nirmala Sitharaman
=8(C
12,  SITE %1 Waad F7 2 9 fal
(A) HEEEE Sz efifae G e
(B) WM Sz Fefifes wEife L]
(C) e B2TTEE Sfezeggre ol A C
(D) ¥2eNEZ Sz Seffas wteie  ©
What does SITE stand for ?
(A) Satellite Instructional Television Educ:‘liiﬁn i
(B) Source Instructional Television Experr!ncnll
(C) Satellite Institutional Television Experim® L
(D) Satellite Instructional Television Experim®”. ) 1 gt s (0 e
3. T S S e (g A1 S i pubai
':A) HTHSITE (BJ ':ﬂ‘%‘wr&& siad '\l'i'h |"|1]j|-'.il.Lls- “".ill & TTTTTTE eSS
What is the capital of the Federation of U.mlt'l £ (€) / '“J‘* e L.:r"_fj'-f’f}h_‘_
{*?}__?E“_“?_ﬂf‘___________“_3_*_:?}’}‘_‘?_“??_1 e Ly
iz




14, o ST S SR A e 3 o v o el & 1 o o o e g SR
a. g & waes it faft
b, I HISA% CE JUE (ACLS) H JHIH | :
o TrbmamA i g
4 v S 60% 31 | @) |
£
g.

J .
aﬁzuﬁwéamacmwaﬁ%ﬁmaﬁmw%gﬁ"%ﬂ@ﬁ%mm%‘k |

i ]
qﬁ@u%mﬂm,fﬁmﬁg%mmmaﬁm@a@? '
B.Sc.?ﬁ?"i,ACLSW@&M‘&&%WWIgiﬁ%ﬂT'eﬂﬁgﬂﬁ4_aﬁﬂﬁﬂSaﬁﬁﬂﬂﬂa
A WWW:@WW%

- mﬁﬁmﬁﬁﬂm%ﬁmqﬁﬁﬁﬂﬂ%ﬁ@ﬁﬁmm% :
(©) ey 21 3 forw Za1 S

(D) guﬂaaﬁmamﬁqa%mﬁwm% B s
Intensive Care Uriit) The criteria for selection are as follows :

A hospital is recruiting nurses for its
Bachelor’s degree in Nursing. ]
Certification in Advanced Cardiac Life Support ({,&?LS).
Minimum of 2 years of experience in Critical Care-Nursing.

Score of 60% marks in a competency-based it W.

If the candidate does not have ACLS certification:-the case is to be referred to the senior specils.

If the candidate does not score minimum marks he interview, the case is to be referred to Headof
el
L]

g7

p Nursing Department. »
" g.  Tf the candidate satisfies all other qualifications @lept work experience, the case is to be referred

: the Director of the Centre.
Based on the scenario, what course of action should be taken for Priya Singh ?
B.Se. Nursing, ACLS certified, Scored 63% marks in the interview. Experience of & years includnt”
years in Intensive Care Units.
{A) Candidate is not to be selected
(B) Case is to be referred to the Head of Nursing Dcl’a’é&ment for further review
( S) ?ata is inadequate to make a decision (t) 51
( “andidate i i S
) e is to be selected for the nursing posnmﬁgﬁ

45.  Frefoifiga & & g % #1812 ond & wed s w8 2

["T_’}. T - 38 (B) Hfed —awe (Y St — Ay D) G-
Which of the following pairs of words are most similat in meaning 2 s
(A) Hot~ Cold (B) Hard-E 3" e

— Easy (G)™ Quick — Fast (D) Happy - 58¢

46, afe Fr$ o =7 9 o T FIET) T ;
- 1% § wiad % foe a1ws 3:00 w9 ¢ ol “ :
o A : . ﬁ |
?:mmj %:gﬂmaﬁmﬁ,wﬁ 59 AR Y 4 M :

A) TR (B) 1alE 6 7 RG] .
If a plane ] N I . - iy |
time wf:zmef;: Spiaz?l::?; ki::T LGdm at 3:00 p.m. (local time) and the flight duration is et

» I London is 5 hours ahead of New Y
ork ?

-
]

__________________
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Find the nexl imaggdn the series
; .

{

] © O () ‘
ol -

mﬁ}m@,aﬁﬂﬁ?ﬁﬁ@ﬁwﬁ

(B)

s8. U 105 HeE Ermel caf:fw.-ﬁzﬁmﬂ%i_aé?ﬁ%l 175 e sl

o 7 4
ey gy & e T 8, O & et mﬁmmaﬁm-
(A) 3 i, 40 BETS < B) 2 Tie, 48
(©) 3= aguFTE (D) 2fFe, 44 IS - her train 175 metres o

: ; i 8 an
A train 105 metres long travels at 60 km/hr. How long does 1t take to €10
running at 54 km/hr in the same direction .
(A) 3 minutes, 40 seconds (B) 2 minutes, 48 5300“3
{C) 3 minutes, 48 seconds (D) 2 minutes, 44 seconds

ﬁﬁwﬁqﬁﬁ%mwwaa@am@%|mwwmaﬁnwmﬁﬁé@m%ﬁaé’rmﬁ Eal
STaTS w3 i § e 48 e a9 € | Afy ey %1 3T 330 H1AEFTE 2, A1 o8 Safth 36 T T

1 (a0 § ST @ ? ey _

Two guns are fired from the same place at i—;interval of 9 minutes. A person approaching the place
observes that § minutes 48 seconds have elapsed!between the hearing of the sound of the two guns. It the
velocity of the sound is 330 m/s, at what 5pccd3ﬁls the person approaching that place (in km/hr) ?

(A) 36 (B) 27 Ll e (D)e29

@ e 717 1, 60% THER] % 916 T T R, 30%, afERT 3 e v 3 2 i 159% THEE § § Uedsh o 9 U Y
sfws S92 8 | a7 3 960 GTaT Ted & | & ra g o 918 T 41 99 78 © 2
In a village. 60% of families have a cow, 30% of families have a buffalo and each of the 15% -
5 i TR of
has both a cow and a buffalo. In all, there are 960 families in the village. How many families dno : ia;iﬂlhes
cow or a buffalo ? ) NOt have g

©

(A) 280 (B) 240 (C) 260 (D) 200

61. U St 3 wfe 2 % oI T 6.4 7 T e 2 | € O g i it fierran @ ofe e 8 T ey
o A &, 5 37.5% T BT & | ot STeeh] S ST 24, O 1 2 & S e a7 ..
*:_ dal _tr‘;:man L;J_ay\- F h,T}:.:'c:r litre of milk. He thertddds water in the milk and sells the r;1§xture atT R
thereby making a 37.5% profit. What is the ‘proportion of wa i i i Frber |y
Gy g % P s the ]3{];)]1 of water to milk, in the milk receiveq = ';:-‘.
(A) 1:21 - ey i PR E
b s (B) 1:10 i (€) 129 (D) 1:15

62. 135,171, 192 %1 ggam gHMEd® (HCF) 314 3 | ;
Find the HCF of 135, 171 192. - "|'
=" (B) 10 L © 9 D) 3 \q e

. TEETE ey A B B : ; ;
6 ’ ez s i for 310, 550 3R 728 B feranfor w1 T @9 9 SRR )
1@ 1he greatest number which when divitfed | V310, 550, ¢ 28 leaves \ i

(A2 e ivited by 3 1( e ﬁU,}::I'ld 728 leaves the same remainder ——=—

{.4 n'a: ﬁ}«'.. if!']?;' ""'j“'nfr[r.ﬁ ]H -; g - % f—.ﬁ-;- ‘_,‘_“ (D} 2‘2 1 ‘
o e LT |8 Are 8 v i o6 an e @ | e o e R T
(A) _!'l,- H.m_“-'_{:_{W B 20 t’.r. th e ’ ~ _l ) i ‘Wﬁ. | ‘Q. ? ) 1
A 335 metres lone 1 ) e ol (C) 77 Wi (D) 110 Befiga \Q
() 67 ki Elrain crosses a pillar in 18 seconds Find the speed of train in km/he. 2

e AN il (B) 80 km/ Y 17 km/hr

= e potigs (D) 0 _k_n_l.1fl __________ © __-’_F_Ptril-_-ljl__ (D) 110 kmv/hy 5

PPage 11 of 24 ] _q_h-'-'--i-l-.:"-ﬁ-"“‘-._
~ ? “““
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T i
ﬂ'ﬁﬂ'ﬁ|6mtﬂa%r T A 14 o g

i ol
< g o afeemd 10 R # I.OOIﬁEE‘q?rfﬁlﬁ
8. o afecriait o 2 T 2 55 D) 15
e faq (B) 20 (© How many days will 14 men and 20 wop,.
EM ]?r 10 women can build ¥¥a 1 of 100 metres in 10 days: : 0
X IL ! u:huild a wall of 600 metres ? ¢y 25 days (D) 15 days
(A) 30 days (B) 20days ©) A w64 st 1 SR f
o 120 s SRR 6 e o o e 16 Fodt -
“ et s g o 1 5 -
mﬂﬂ%‘lmﬁﬁﬂﬁﬁ T lzﬂ"é (D) 15 He
A) 1698 B) 17 o ; (©) kinE 6 hours a'day, then the number of hours per
‘il 120 persons can finish a work within 16 days bb".‘ﬂ"’i}”{ﬂﬂﬂn 15 days is :
dav that 64 persons should work to finish that same J(C] 12 hours . @ (D) 15 hours

(A) 16 hours (B) 17 hours

% e & forg 960 T 1 e
67. @%@ﬂmmmqﬁuwéﬁﬁwmgwﬁm R ¥ o

= WWW% VSt e A th.?s?cmt price but "fseéiﬁ a false weight of 960 gm for each
A dishonest shopkeeper professes to sell goods al L] l)l,_.ﬁi

kilogram. What is his gain percent ? ; i 1
" St ) li. 4 Lo Ik
B 65% B) 4% EieE @ DY -
ey A 5 3 7 15/Fra) i T 20/Frel 1 e et 3 ST S AT <hi foRE ST A fHerr
1% 7 16,50/FreT o1 e et gyl o6 Fraor S {36 SILE Sy
In what Tatio must the grocéF mix two types of pulses costing T 15/kg and ¥ 20/kg respectively so & q
a mixture of pulses costing  16.50/kg ? 7 ﬁ
{A) 7:5 (B) 5:7 (Cy773 (D) 3:7 " \
U G T S HTHE L 150% T TR T & 37 40% T2 21 & | A A ST T 1,600 2, T
S T8 7 | R e W

A-retailer mﬂ(;ks up his goods by 150% and offers a 40% discount. What will be the selling price if the ¢
price 1s¥ 1,600 7 i '

(A) T200" () 72500 © 3000 || (D) %2.400
qaaaqafrﬂsoqﬁaﬁqt@alﬁﬁﬁm%ﬁﬂrﬁﬁ?ﬁ%laﬁ?g aﬁuaqtaﬁ
| i

20% FT AT FJ7T 9
By selling an article for 480, a

a profit of 20% 7 man mncurs a loss of 10%. At w gmi hmi]_-g he sell it, so that ST makes
(A) T640 ®B) 7680 oM
O FRIITET & Hfieht o1 site mfires g b' (D) %664

il éﬂ;rfs,sm%mﬁ?sr&:ﬁa;raﬁmmﬁmaaﬁm,ooﬂ‘%aﬁ@f

The average mon 3 T TR 2 T
7 workers is ¥ 10,000 and averagee Workers in a workshop is ¥ 8,500. If the average monthly salary ¢

r:{:rkzhf A montly salary of the rest is % 7,800, the total number of workers in ¢,
(B) 20 ~ :
2. 7fE 6 FHPTT EY deray © 2 g o e
If the average of 6 Eﬁnsezn?iq::;:? b ﬁmﬁft e Waﬁllﬁm'r]--:} ® ’ 6(‘??
r n i ¥ — .
7 U";":j 194 {B} 1?6 umbem 18 183, ﬁnd the SmallESEﬂumber. .j""/
. faer ™ 2,550 3N S & iy (€) 181 hisd (DLA78

ary FHIT Fififa - %
. bﬁﬁ;ﬂr:ﬂ%:rzmmm%mmﬁﬁﬁ 2 a&%mrﬁ% 4% it 1 R wwgfa T

: ; Ow§ 550 to b 2 ? N
%! 2 years in © Paid back yig, compound interest atithe rate of 4% per annum by the o
- How much will each instalment be ?
(C) T 1,275 (D X135

- e -

=

FOfo—g2— 103

R
~~~~~
P
______




COBRA 32 st qfery ey o

27
e fdre aifivrr g B | W%WWM
(A) wuieh ﬁa‘ﬁ'ﬁnﬁfﬁmf@.a\;mq (B)s #ﬂmw dfor?
(C) et werformr wie Y o (D) gt e <. What does it sﬂtuw Action
CoBRA is a special Operation un\il of the Central Reserve Police Fﬂrdu ‘Baﬂaljons for.d on
(A)  Commando Battle for Recoiling Action (B) ' Comimet lions for Rap!

lons for Radical Action

; \ (C)  Central Battal
@’y W@umﬁwﬁmﬁrﬂ@ﬁwm%?

(A) R forawsn (B)

On which date is Internation
(A) 8™ September

12 St

al Literacy Day ob

(D) Central Battd

() 2097

ed 7

‘ (B] 12[]‘ January C_i) (C) 20“' March
T=
37, R e F s o 8 o) o
(A) (B) * Tt e SUEEEC
Who is the author of the famous work “Tantralola™ _ i
(A) Bhavabhuti (B) Banabhatta =1 (©) Abhinavagupta (D)
IS TH.U. YT Sqer Faumee  Sow, S5 5 o i Fafd # e feham ST
mtly =iy | @

(A) THHTF F AT (B) CIF F YT T .
As per the IMF Balance of Payments Manual, the import and export of goods should be presented on

Jeed

(A) Ex Works basis {B) CIF basis
39, fefafEa § o o @=treg) 79 fifew |

9 W
g ] following. . A
Find the odd one out from the : :
(A) TVXZ (B) ACEG ‘ég (C) MNOL (D) HILN & [ 4
40. H@erd AT ﬂ@nwfﬁﬁm ‘ 0] : = 2
Find the next number in the series. o P | %
144, 169, 196, 225, 7 Ol !
(Af 284 (B) 298 2 (© 26 D) 25¢ = -
£ : el A, 120 < T TR | T 3T S 2 i B X A
gy el & | T A e cheeie 1 I shet o et o SR o # | it e s ﬁ?,eﬁm_}.g?'%*{ T 5t
L “three containers — yellow, white and black, 120 marbles are placed. There are o 2{1
e white and yellow containers combined as there arc in the black confaines. Also, thepe o Marbleg T i
;]hlzn\, marbles in the black container as there are in the yellow container. Hon many ma; !%a_‘-e o E o
the white container ? marh e thm_e 5 2
(A) 60 (B) 30 (C) 40 (D) o
qta A A, BRI 8, C, DA S, B, Dé%ﬁﬂ%ﬁﬁﬂ E¥ Wi g Dmﬁmwg.am
4. ‘ :
AR # 5
,T:ong five friends, A is heavier than B, C is fighter than D, B is lighter than D byt hea s ‘ﬁr&
not the heaviest. Who among them is the h:.-awtsj-; heayi ‘han 5 .
P (A) E {B) B - ©) C ol 1
Eﬁﬁﬁﬁ“ﬁﬂaﬁﬁﬁﬁﬂqmqﬁm [——I o .
Q’r‘ 43. (A) Wf (B) @1l L‘:? (©) Fﬁm (D) v
pick the odd word out from the given list of w;p?’gj-, W_,,
{A-}m—dm““”h'kd __(_ff_'}__f.;u_lf)?]tze _________ (D) Kab
jv.Z-24 Kabul

(C) FOB%3MYRW (D) FOR % 3O T

(C) FOB basis (D) FOR basis

SremmReel
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lows .

jor specid
erred to B

| to be refer®”

yo

fai?
e insl®”

47,

48,

e O AT D) iz FE
o - @ I L ? (©) G aculel 25
(A) e (B) foerg 71 '

’ g .
Complete the analogy :

Pen - Write :: Knife : ? (©) Stitch (D) F’a:; ki s
(A) Cut (B) Mix ' FF 94 IF geTdl
@Wﬁmﬁ;m%mﬁwgmm%ﬁwﬁ o
%tu%a%agﬁmé\wmwﬁm%,ﬁ___—;—r:: D) IF

(A) ¥ ®) wagFE=E (O e side of that plane

- at i on on
i that is formed
A cone is cut through a plane parallel to 1ts base and thep the cone

is moved. The new part that is left over on the other si 'e,'ﬂf the plane is called iE}_EO—IlE_.
(A) Cylinder (B) Frustum of a cone (ﬁg Sphere

+HE AR F R ]

_ g R A %’ od

o A & |

Frafafa § & frga ad 2 fr o, MAT TR 2 -0

+ means ‘is the brother of’ :;?4}

— means ‘is the sister of
= means ‘is the father of

Which of the following means that C is the son of M ?
(A) MxN-C+F (B) F-C+tNxM (R N+M-—F xC (D) M—NxC+F

T AR S e o YRS H 30 %l =g 8, T S o 3 e v @ ot arrd s 3
] EATT
STk Y E T8l 20 e A e 51§ 1 Al angen 8:00 79 o e v e %gragqgsﬁﬁtﬂ
STHIA H 120 B ST e 918 a9 e e e 2 .’-] W s j i
(A) 198 Wel (B) Imm & (&Em”@f
A mountaineer ascends 30 feet at the start of pach ho

| (D) 3% 5 &
ur, lthen pauses to rest and slides bac

beginning his climb again at the start of the next hour Jf h ' i 3
&, c Slanh s 1 g < ore
et sl g ! s his climb at 8:00 a.m., at what time will
AN B) 7pm. (¥ 6pm (D) 5
; " .m, p.m.
34 =i 7 =79 Fif st Ry e I oftz 6 SET & o i g |

Chm‘i’e th'@ bOﬂ lhal 15 SII]‘[i]d‘ r to thc b(])l; orme !T f f 2
d 0m the 1gure 8] 2 Lw] el
pap r gl\‘en,

T




52,

Y

@mﬁaﬁ?ﬂafsm%,m%ﬁwaﬁﬁnﬁws@*?lﬁﬂﬁmywmﬁﬂzw

2| o 3us e o eik st w@hi? 7
(A) 33T 3 4 IrEe By 5 9T M2 3

(C) 4 37 31K 3 ave (D) 5 M1 s

The cost of a mango is ¥ § each, while a guava costs T 6 each. A Woman spends a tota] of 52
fruits. How many mangoes and guavas did she buy ?
(A) 3 mangoes and 4 guavas

(C) 4 mangoes and 3 guavas

<t sl & et g 89

How many triangles are there in the given figur B@

o [hfxe

B) 5 mangoes and 2 guavas
(D) 5 mangoes and | guava

O

°

I

of

]

5% |
(A) 26 (B) 29 ® ,9/27 (D) 28 1
@ | o9 (i) F1a T | |

Find the odd one out in the series. ‘
ES, 19, M13, P17, U21 ’

) 1 (B) P17 O © v (D) E5

e o foraedll § & st 3 o R e hife () |
Find the next figure in the series from the given @%cms. 4
/ |

(D) |

. SRR S

COLRIEN .

i
______________________________
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74. 2aﬂﬁm#aﬁ$3%qﬁlﬂ.000%ﬁﬂ‘aﬁqﬁﬂﬁ3maﬂﬁ :..'._-%m in 2w
thmmmdmmmtmdmmdmeﬁtfmflU.ﬂOOatS%I::‘g‘P“(D) v 1060800

(A) 7103092309 (B) ¥10,509,%509 (C) T10,409, ' 609

3 safealt 71 3T ST 10 - B e 3y o9 7 3 18 : 10 &1 TR T T5,200 ST
A o g Y e
The ratio of income of two persons is 10 : 6 and that of their expenditures is 18 : 10. If they =
and ¥ 3,600 respectively, their incomes are : . D G
(A) 9,000, 25400 (B) T6,000; 3,600 (C) T10,000; 6,000 (D) ¥ 16,000; W\ gt

76. 129 TIOR3 61 5 3% 10,920 FAo( T A Aw R AT 2 o
What annual instalment will discharge a debt 0f%10,920 due in 3 years at 12% simple mtew '
(A) %3250 (B) 2,750 " «8 (C) ¥3,000 (D) ¥2,500 il

AMWS+TAIERS, TR, s_ TR S, TR TETR: S % TH & S, T F wrar & e

W%S,Twmé%,ﬁrﬁn%ﬁgaﬁ%ahmaﬁr%ﬁw,Ka?rgaw%? :
If 8 + T means S is the father of T; S -—Tmeaﬂ 15 the sister of T; S % T means S is the mothe
S T means 8 is the brother of T, which of the;f8llowing shows that J is the paternal aunt of K 2
@) KxM+L%J  (®) I-L+MxK @ (€) K%M-L-J (D) K+M-L%J

78. W Y12 3 Hifor |
oa ;

: ST < ST 2 o ’
(A) Hrar B) e (C)_Fren (D) Frfr
Find the missing word. 37
Apple : Red :: Coal : 7
(A) Blue (B) Yellow O (© Black (D)
79. R wsv % smam v wd e ww it | Q
j e ed s 9 . &°
& (A) T&ar: T L] (B) firam =g
(C) F=wr: g o (D) smew
Find the correct alternative on the basis of the mn relationship,
Fall : Pain :: ?
(A) Laugh: Cry ® (B) Fall:Step
. (C) Disobedience : Punishment (D) Food : Happy
‘80. weifo 9152 31 i | ;
F, T, ufvt, et o &
(A) Im@Er < -
Find out the related word,fBJ o~ iy < "
Root, Trunk, Leaves, Fruits, 9 O -
§F . D o s (D) Plants
81 Wﬁﬂ%m%. v ;
o R B . g o!:&l _ )
Bt ® T 0 Fm e
Map : Directiong ., ; }
(A) Nawrg 'Mm?lnf)"? . &
T i A Pl‘oeeth, @ (C) Controls (D) Inst

-
T o e o o B g o o W
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0 is ty

' vﬂl“f

K
L

§ 7o dr i & st wham s S €|
'gﬁ?mmﬂﬁW'ﬁ:ﬂﬁﬁmqﬁmﬁﬁﬁmﬁm-
T & @ Z1 T e ST G R |
In a school, periodical examinations are held every two mon
April 2001 to March 2002, a Class IX student appeared in each o

below shows the total marks obtained by the student in each periodical exam.

e ST T § e Fe 3% = 500
Maximum Total Marks in each periodical exam = 500
> ;1101

3eh/Marks

et 2001 & 7T 2002 T F
gm['—ﬂ%ﬁmmmm

ths. During the academic
£ these periodical exams. The I

- = — =

340 1
330 —+ + + + - - i
IG-2001 FH-2001 30RG-2001 FFER-2001 FEHaw-2001 w=d-2002
Apr-2001 Jun-2001 Aug-2001 Oct-2001  Dec-2001 Feb-2002 e
SR 2001 T SR 2001 #Fi rafers weme § ST 3 IR S A AR

What i$ the percentage of the marks obtained by ';(ﬁ; student in the periodical exams

October 2001 combined ? iy g
(A) 78.5% (B) 75.5% a[c) 77% (D) 734
mﬁmﬂmaﬁﬁqaﬂtkm@mml o
| T | e [ s | g ] Peeas | amafs
1 12600 +20% 0%~ W R
2 12850 + 25% 15% % x S
3 12570 -30% | 12% Y T
B 12200 - 10% 20% Z
(A) 20% (B) 18% (o) 8% D) 1
Study the mblm___‘_i_ﬁ_{l_d;the value for R. L) .
Articles Er?ﬂ Ma{ked —I Discount © 5 Selling Profit/Loss %
_u__l________l_i_:é:? Pnc: a[~:] Price
e B
R I
__;-ﬁ-_ll_z'zg“ -30% 2% (B Y T
@) 20“? el =10% 20% Z fh
NZza - i B) 18% (C) 8% (D)

e
-
_____
e e -
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o AR H * -JIFI. .-HI: .
3 e arll SR I A3 oy

tting around a square table facing outward
are sitting :

AN TICARR
g arasre |l
| M, Nand O,

{ N is sithng 10 the immedi
"N SHINS

(B M

Y 21
(C) N (D) 1
B) " (C) wisft (D), T

< A related O D?

oo e A A e mﬁmﬁi&qm{@ﬁ%mﬁl %
fegrnarany - 2w Eg: 2T famy

\)FEEH FY - Ei-El . (B) TESTaY : Mie® e I’/‘B
(C) ¥ FT  FR fem Y (D) HFER ;
From the given options, find the pair which is similar to the given pair. i:
Given pair .- Davis Cup : Tennis

A)  Federation Cup : Kho-Kho (B) Ryder Cup : Golf __-('),‘ B

A

Ul James Cup ; Car Racing (D) Cue Cup : Snooker -
140. 99 9% 719 ifer | b Qe e - g 0
id the dissimilar term,
\. BFB. CIC, DLD. EOE )
_~ (A) EOI (B) clc LJ (C) DLD

o 3 - - - [ i 4“- L A
\J4L. IS PR , 4191 QR 1 TS W PQ it Hﬁwﬁ&:"‘j&?q:‘rair Ut Eg R
4 ST S 2 | T 55 85t ¥ | Byt pOR oy qo B

(A) I4Td

(D)_BFB

& AT 36 el Fy 2 0
(B) 1] &=t L (C) 123

angle POR, length of the
side PR

In tri

(D) 10 @
length of the side PQby 3em. L
¢m. The perimeter is 55 ¢m. The

side QR is less than twice the
length of the side PQ by 14
side of the triangle POR s : J
(Al 14¢em (B) 1]¢m

£ 10 em
142, OF fAfrgq ymr i coap < o,
In a certajp "JF?T'::-"(-?‘ [({‘TR.}] i F’FWH Fora s 8 SHI 4T 3 FUR 1 44 ferarsmum > 3|
(A) 62118 e I,w Written as 3118, How will FUR be written in the same |
7 ol (B) 65900 (C) 99116

2024 FEETE 1 Fa g oy 0

o (C) IFam (D) w1f4ar
416" April, 202

exceeds the
(C) 12em (D)

anguage ?

- - '2-1(] ¥
143, a1z 6 T}JQF-‘] 20037 ”_)J g 12

> FTTEENCAT, 31 6 sy
i (B) g
What was the Li,-|j\- of the week on 4,;]rh ‘:\pl'i] 202
(A) Monday ; ] A
- (B) TUL‘M“ A :
sddy _,f B an; Vg, R ot
HHUH g7 719 Fifs | - C) Friday (D) Saturday
; l__!,[_lllj;i“' dissimilag number.
2.6, 24, 120, 540),
(A) 6

&
(A) amET

3 was Thursday 9

< easemadny Y12

(C) 24 (D) 540

oo dliah gt o=

are 1 3w e AR A3 & 1 L, M & 3T T oy

15 Sl

0. W 1 . ale II'.:l.' of 1
ate r[L'h| l1|l . '.h“ i ||'|:||:I.|._r [ th f““”‘-'ljll L |
i

e ~ SR R ' "-_'.-_l A T
£1 a6 2 2 BID CHmBsME CHHATRIA Dag
o g o, \ !J{’ﬁqﬁ:{hd’ﬂq’ (H’f’lﬁﬁ

: ; ’ - e father : 118 C7s mother 1y
i five members, A 18 B's sister and E4s B's mother. D is C’s father and E is ( 1other, |
famny o ‘

\) Daughter (B) Daughter-in-law | | (C) Niece (D) Granddaughter

ST PR 3T &418 Wi PO o) wiars &

ength of the

length of the smallest

—
P o

_—

“t \_:ﬁhfi ‘

—
- %

\ o
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145. amfnnmqéqéﬂwafﬂlﬁmaﬂﬂfﬁmnas far &
m;¢1mﬁﬁvmtﬁﬁ%ﬁaﬁmwﬁ?ﬁ&m

aftam &1 54 ~

12% ;
@

- od
\4) Tarferean 25% LQBI f/é )

. 13% Ei‘) A : J/_,,/
%58 33 of
=\ g |\ T 21 Bus
\\V \ 23% s . C7° i : 2/

M E g 5 S j S

e

r;

U‘
| C/'wmmaa%qméﬁﬁnm%m#maﬁaﬁﬁ#aﬁ e St ot ST ST T €
‘ (A) T27,860 (B) %26,580 Oﬁ(c‘) % 24,650 (D) 25075

presents the domestig‘@xpenditure of a family in percent. Study the chart and

The pie chart given here re
the family 15  42,500.

answer the following question if the total monthlgincome of

Expenditure of Family

Provident Fund

e
12";:.‘ I_.- 5
of th “
1les Food ll_l ]
Y |
Medical 25% Im;,j
13% -
L)
=]
; t~l""-.
Child .\ House Rent (5) S
Education |8 18%
23% £ 0
Siige #f
E 2 &
= o
] u

After deduction for Child Education and deduction for House Rent, the total monthly income of¢

remains
(A) T27,860 (B) 726,580 T 24,65 (D) %25,075
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128. ?gﬁgmmm?qqamrmﬁmm?mmgﬂmwﬁw‘jﬁ' WWW?WW
e e Y R ]
(A) e st A et 7 g (B) o A
(C) & 50 TS 51 S-S F 1 6 O
129, Tl &1 ST FEA § O 1 T S ?
i - (B)* 3THES A
(A) HEE S8 : qﬁﬁ?]'r
o p ! (D) Waﬁ
(C) el =hl TRy g9
130. SR 7 S &1 1 379 & 2 X e
(A) SIS €T (8 1) eeelAn e BT
(C) , BTG 0ol ST 8 @) s
131, THFRE FHIR L 9 |
- 2 ) qgﬁ aE: m ﬁ :
(A) THE (B) T FAT g% (C) wRTHEA (D) el ‘{; /%\
132, e s=2unE #e W iua g "
(A) SEEHEEAT  (B) FEARLIAT (Ol FAT ((B)) SR ;e
133. Ush et ) i are @ 2 afd g &yl o ofte A e 8, T 60% gl 45 ﬁ%ﬁaﬂrﬁqg\ﬁﬁsfﬁw
7 AT B, T e % ey o e ot 80 el 29
Arsofefrafase  (B) aofFdfufrser o () a7fEfivfaser (D) 48 fordt wfa Eer
What is the average speed of a man who travels between two cities, covering 60% of the distance in
45 minutes and the remaining distance in ‘\5 mmll[ts where the total distance between the cities is
80km ? -
(A) 50 kmph (B) 49 kmph < (C) 47 kmph (D) 48 kmph
134, o =gt = 52 1 g3 S5 3 997 9fam i it s 2, Fueh fore 61w o 7.45 =t oy ot @t
(A) FEIEW (B) afeor 5 (C) qj (D3 _
A clock with the hour hand pointing West at 3 p.m. will have its min te h 4 1 ‘ -
towards : Hie hand at 745 P.'omtin;' x
{A) North-West Y FHad
o I 5l dose (D) North-East
135. wﬁmﬁqﬁ?ﬂw%wmﬁmﬁwﬁ %qwﬁzﬁwﬁa:ﬁmﬁm_wg},
fear i Ee : (49,25, 9 {
Find the st of nleberg am : :
5 amongst the four options'that is most like the set oi i :
Set given ; (49, 25 9) | given in the question,
(A) (64,27,8) 5 . ~
136. Aifia-ﬂqﬁﬂ,q:_r‘;,ﬁhuﬁ vhetl) ) (O 6, o) (D) (36, 25, 13}
— wq—{ tH]
29 fq‘maﬁwqrﬁ Eqﬁ[?l Aac‘rwrrrqa-@{ﬁ A o
W S ey
B) YTl . .
A ]“lT'udu;_-,Ls B Hd\r] tﬂg [(- ll” D} &FE“
A8 ng, *}
a8 8 male Person, by, ! le is the husband of the granddaughter of the father of my father*
: ____‘_’_g‘_l 0 Olsin 5B related to A 2 I i
Nz T e - 1B) Hmthr

SRR s (C) Brother-in-law
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91.

FHESE? e i ‘{?rf
A) gf&rr (B) KL ©) .}'

{

g7, Fafafld sj@mﬁgwrtramﬁ#ﬁ’lqi
Find the missing term in the following series.
o9 361,289,169, .49

"B w s B) 9] Q © 125 ® 121
No T o T e Fife 7R FEffes v &
' /\ s sirof T #
10 25 ]
20/17 {15\ 30 | 40 O & safrahda
7\ 20 L]
A ]S sroframdis
o s A g0 @)
(A) 10 (B) 17 (C) (D) 7
Examine the given diagram and respond to the following question.
25 A —> Persons who drink tea

2{]/1?]?15\

30 ) 40

O U> Persons who drink coffee
&
Persons who drink juice

10w many individuals drink all three ? ' o

i (B) 17 = (O 15 (7
' ﬁn%%amﬁ,mﬁqmw%ww
W%wmqﬁwmm SHEHoS I TR |

——— .

T T 31z - “GENTLEMAN?”

i g o v e 0 @S ¥ S ST 27 ST 45 %ﬁﬁﬁﬁ,ﬁmmmﬁsﬁﬁm ‘
af2 39 IS : .

|

initially facing North-East and turn 45 degrees to your right, what direction are you facin, oy
" youn are

“\: t 1'snmh (B) West (C) North (D) East

(A) 3 :

R et % F w9 & o vl

1
In the followmg question, you will find four other words provided as alternatives alongside a give? "
Q_ne of these words cannot be formed using the letters of the given word. Identify that word. '
Given word : “GENTLEMAN?® ]
(A) GENERAL (B) ANGLE () (© GLEAM it
9. T T e o 4
gi!l in the blank. 2
6, 60 |
Ay 19 —10 ) g
B) 20 o3 (C) 25 e |
[;;] 15
(B) arfer &% (C) e S |
g 2 @ 'HFE‘T j‘:’}!
_________ B 5y (©) fam e
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rrrfafiae 1 @ -4 I8y 7T T B

116.

) fd (B) el
17. f:auﬁ:ﬁ'iaaﬁﬁmﬁmmmramaﬁ’rﬁrt{;
(A) o FHH (B) @™

(C) ¥t (D) =TS

(C) (D) #W

s Efi i & P e i <o fT s ST fa T e 2

(A) T JE TG IR |
(C) ST EAT SR R |

(B) STCThaga at g U @IE |
(D)o G I A 3T 2 |

119, -mmw%@ﬁ,mmﬁwm@m|'ﬁﬁ%ﬁ§ﬁﬁ%aﬁq-mwamﬁma%

v 1 o 7 8 2 4

(A) Torspior (B) fermemdor E“ (C) ST (D), SHATFHOT
120. ‘Feivar F EO-Ae e 2 vﬂ

(A) ¥+ $wa (B) T+ $9a [ (©) =iF+7 (D) T + Fvar
121. oI i adAm e H R ? 5"?

(A) FAT AT | @(B)cﬁﬁmw@m@

(C) =T faeeft w3t
122. ‘S AT HIEE AG B ;

T~ 0T 1 e e
(A) X —Hrer (B) o —Higt
4.9 g3 G S G 7

(A) HEFH 9 G GHEA]

(C) o 31 &1 B 70 302t 6 oft &1f v
5. “HMA 315 7 et frefefae o & aor a5 o
(A) m:ﬁﬂ?[ (B) ’:IEW

J .ﬁm"ma’aﬁ@?ﬁﬁq%?

\A) IriE (B) 3T fotaer
*) ®f ®) #m

.. 1289 132 et vy

127

Wﬁwwmhmﬁwaﬁw

gz?;mqﬁmﬁﬂﬁmmgaﬁ%ﬁmmﬁgg@aﬁtwml 3

Z 'W-W\ﬁﬁ?ﬂamiﬂ%laﬁﬁﬂ,ﬁﬂrﬁmaﬂﬁ_aﬁﬁaﬁtgﬂé@ﬁﬂﬁ“{f
Wmm%aﬁtaﬁﬁm%iﬁjw -t
HHTE % foyu sreril o SEI-STT o B I °
mﬁwmwﬂgﬁﬂmﬁﬁ%ﬁwﬁgﬁwﬁﬁ?ﬁw
(=
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(D) 35 % @1 et o |

(B) STl %l THHET ST
o+ (D)s TIHE HTAT

<F (©) er-Tw
ki
W (B) T A A Y o e A s
¢ (D) 3 et wet g0 FEar S

(D) & —geieTl

(C) JHHsar (D) HHEF
(C) , 357 gFmr (D) S S
?f (C) ,FeH (D) e
e 2 3 P i st 2

13

135




o £ et 2 :
B e Yo

ser BT =

aft 420 %7 30% 2400 %1 35% = 4200 1 x% & Y « ﬂﬂmmﬂﬁﬁ’ﬁ:&m]

P 400G s s 5
petermine the value of x if: 30% of 4200 + 355, 04 2400 = x% of 4200, find the value of X. $ =

(A) 50 B 29 (C) 48

146.

mnm%m%wéﬁuﬁﬂrmﬂ’aé

- |
(A) 724° (B) 68.4° () 5820 (D)p78.2°
Examine the given pie chart regarding productic::}i{]'of steel by five states and answer the following question
State A |
o9
State!.B_}
State(€) {'
it 5.t'
7| State D %"l.,
Statel,-E-:.]
What is the central angle that corresponds to thg:.ﬁ;-oduction of steel by State D ?
» ;g 724 (B) 68.4° 38 (O s8.2° (D) 78.2°
- 915 MONKEY %1 OQPMGA 3% ZEBRA &1 BGDTC % &9 # #ifeq famm smar €, @ DEER ' e 77
Hitee faaT ST 2 o
. E;J'L!
IFMONKEY is coded as OQPMGA and ZEBRA s BGDTC, then how will DEER be coded ?
(A) BGGT (B) OQGT @ (C) GFFT (D) FGGT »#

| 149, ﬁmmamaﬁaﬁsowmamfaq;ﬁ-ﬁaqaera‘rrfaﬂuawﬁaﬁrmaww
' 10 Fry T | i 7 o 30 e, 28 20 o o)t v Y | ey e @ o fen e £
(A) 9 (B) afear © I

From my hf}us;c:, I walked 30 km to the North. Then I turned West and covered 20 km and then ¢
10 km turning South, Finally turning to the East, I covered 20 km. In which direction am I standing

Qv gred

frof

my house ?

(A) Wt g vy (B) South (C) East (D) North
150, e ]7(__?,_9)801 W@%f

Complet#he series 2, 12, 36, 80, . 1
_____ (A) 120 (B) 140 (©) 130 (D) 150 e
Y e - LT S Nl G RO e S i IS R
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